VAR DL DEX

/6
B =AFDEFN=ZAFABCOILAMN THELE FEEINAORIEZEZFILL),
O BOFDK™ 5 @ MEFOKY
A E
/\ 10.2cm B
ol 10cm 4
6& Cd‘ F 16.8cm
B E
C A D
cm cm
Q@ MEFHKX ® MWEFHKX
F
D 31.5cm C 5.2cm
A Tcm cm
A
6cm
c . B E
cm cm

cm

® WIDFHEX

D
A
10cm
w C 19.2cm
8cm
B E

cm




VAR DL DEX

B =AFDEFN=AFABCHOILAN THEL I EEINLAORIEE

10.2+-6=1.7
9Xx1.7=15.3

@ WEFHEX

D E
A Tcm B
; :6cm
¢ F

31.5+7=4.5
6 X 4.5 =27

® #WDENKX
8cm
Ocm

31 = 10=3.I
8 X 3.1 =24.8

10.2cm

5.3 cm

31.5cm

27 cm

E
B
D
A
| 3lcm
C
F

24.8 cm

@ WEFOHEX

B
1 0cm
F
16.8
c 6cm .
A D

16.8 +~6=2.8
10 X 2.8 =28

® WEFHEX

4cm/\
% D

5.2 +4=1.3
7X1.3=9.1

® WDFHEX

ZFL&LD,

/6

~

E

28

cm

5.2cm

q.l

cm

D
A o
10cm
w C 19.2cm
8cm
B E

19.2 -8 =2.4
10 X 2.4 =24

24

cm




